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&2l JSAIEIIR N 29 EER=E)
SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
308 AHXIHM SO & 23,450 23,450
13 I 2 S0IeHE & A S AL 23,450 23,450
OLSANHIIRH SEHEZBAAE 29 2tel
23,450,000 & 14! 23,450
HH2AAHI (M) (DIEHIIE 170,346 175,182 A4,836
Jl2&l 170,346 175,182 A4,836
J|123&H| 170,346 175,182 A4,836
201 Let2| 48,966 46,362 2,604
01 ArR2eltl 48,966 46,362 2,604
O=AMEX 7
20,0002 *312t A x 12 7,440
OSZ201Altl 9,000 *7A1+31H*12& 23,436
Oogt =2 100,000 12& 1,200
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ORN2IYRFL|
405,000 128 4,860
204 MR AY| 1,200 1,200
01 A¥Z R AH| 1,200 1,200
OXHMSAR+HAH|(HRUE)
100,000& x1H + 122 1,200




